EARAZROREIERT — 2 N—XBISY —F 20185128238 (H) 17E11A&E5H

m%)z?z#ﬂ:l)lfé‘ C1 ¥5%3mtE ‘[ﬂi}% ‘Béiﬂélasﬁ] — | # (®) 14000 E
[AE£] 17 :240,000 " ~ 23%&:72,000 M 33 :24,000” 43 :14,000 M . 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . 4 5 | AllER 1:29.5 2-2-2-1 | 39.1| — 1 511 | AIEX (£8)
11111 FLZ—0Ovy 7T 56.0 (=) “1) HREES
L:77NMTZT BTV R-L iE  ERL
S, =5 o4 | AMALZ 1:29.7 7-7-5-3 | 38.4| — 3 491 | WTEX (t£H)
EH 3| FrTER3L 56.0 (1 1/4) 1) |EHEXR
R:xF21=G7—X B:EANTILTIR BIN77— L4
RPEE TN t 6 | WO 1:29.8 4-4-3-4 [ 39.0| — 4 519 |EE—K (£H)
3/8l10| T7T—/NTx > * 56.0 (1/9) ) Sta—
RG24 E—T BNy #iE  JEAA
5,2 . # 3 | HBIER 1:30.3 1-1-1-2 |39.9| — 2 449 | HETTIE (1£H)
4|7|7|L—>71R 54.0 21/2) (+13) | THE
L:7RvS Y L—> Bt b0 747 =Eizier]
s RF D 231, —6-6- . — HEXE (£E)
5055 B I IFY 4 6 5/8.0 1(351)2 6-6-6-5 | 39.7 6 <5+127) *Eli?%e =
R:ih—L BT RIRT—H— — LB RS
N o ITaE :31. -9-9- X = AB®Y (158)
6 p| 7o d—%=—Ta H 6 Pl 1(321)6 9-9-9-9 |38.9 9 (igi) ek "
LTINTFINZL2 B:IvE—T50=1 KBS
N /I &%R : 57~ - THERE (1£8)
7 6|7 HT—I 5% 1('33/]457 R R ! fg TEy B
AT RIAYT BAAALTLAIN— =Ty —1I
4 6 | HPEA 1:32.0 8-8-8-8 |39.8| — 10 | 459 |FHEPALE (f£H)
gl7|8|Fav7TILT 54.0 (11/2) 45) | EBEX
R:¥ayIxXTLrd #4231 iEbe]
N = s > RBEREZ :32. -10-10- . — KHAE (EB)
olglg| FN—-759va 7 =5 1(322)4 10-10-10-10| 39.7 8 :1:115) N "
R:Z2G1 T hF—=T7—FK=FK B:E¥/L12KR— TREFHS
o . M8 :33. —-3-4- . - IEEA (&R
10 4 IZART—JLe<> 4 540 1(3‘81 3-3-4-6 42.1 5 (4+ﬁf) i =
L:Er/070q4 BT7-X—T4— FRESS
® 1—F—@EBIERL
1T=7r= 7,1,4,10,6,5,3,8,2,9
20—F— 7,1,4,10,6,5,3,8,2,9
Ja=5= 7,1,10,4,3,5,6,8,2,9
40—F— 1,7,3,10,5,4,6,8,2,9
[ N5
B 1 160/ 714K 1-3 180M e E 1-3 340 JEE 1-3-10 1,370
B B 1 1004 1-10 370M B = 1=8 320M EE 1-3-10 3,060/
3 120 3-10 640M B H 1-3 480M
10 200M

ABICOVWTRDTEEERROODE. TR LIV,



